Agricultural
Industry

Solutions for Tractors
& Implements

LBk s bl B B
Ly i TR e 4 TR R LR T
! 11‘1.", ol B NN e
i s L o i *
i i ©

L ]
’ &
| ' 8




FERSAGROUP

Index

Bearings

for every
dgrlcq|turd| Fersa Group 4
quh | nel"y, Tractor 6
from tractors Clueh pearins

-.to tra i I ers an d Bearings for drivertrain
Implements

Trailer 8
Tapered Roller Bearings
Wheel End Hubs

Tillage 9
Agri Units for Disc Harrows
Bearings for Rotary Harrows

Sow 10
Agri Units for Seeding Disc Solutions

Harvesting 1
Agri Units for Mechanical Weed Control
Housing Units
Insert Bearings

General Application 14

Cross Part Number 16

The contents of this publication are the copyright of Fersa
Bearings and may not be reproduced (even extracts) unless
prior written permission is granted, Every care has been taken
to ensure the accuracy of the information contaied in this
publication but no liablility for any loss or damage whether
direct, indirect or consequential arising out of the use of the
information contained herein.

Despite our best efforts to ensure the accuracy of the
information contained in this document, errors or omissions
cannot be completely ruled out. We disclaim any and all
responsibility for such unintentional errors or omissions.




FERSAGROUP

Fersa Agricultural
Group Value

Your partner Fersa Group is an international bearing Built to last Robust and reliable bearing

in the field manufacturer for industrial, automotive solutions for long-lasting operation
and agricultural applications. of your agricultural machinery.
It gathers three brands: Fersa Bearings, NKE
Bearings and A&S Bearings. Together we have more ’
than 80 years of experience in design, production il : The best warranty for your
and distribution of high quality bearings. We have /—_\ investment

the perfect solution to fulfill your needs and exceed
your expectations.

Fersa NKE E&S

Bearings B EARINGS Automotive —~——
Solutions

Contamination, moisture, vibration and shock loads
are just some of the factors which agricultural
components have to deal with, bringing
considerable challenges for all mechanical parts.
The quality of our products meets the highest
European Standards and guarantees the best
performance in your applications.

Expert technical knowledge
Expert technicians in the field.

Crossed references with OEM’s and competitors.

Multinational
Presence
+100 countries

Proved OEM Expertise.

Market Fit

Specific products adapted to any application of
each market.

The group is present in the five continents with four
state-of-the-art manufacturing plants, eight logistic
centers as well as four R&D facilities, two in Europe
and two in Asia. We have local presence in more
than 100 countries.

N

115}



Bearings
Restricted tolerances for
the highest precision

Advantages:

* Restricted tolerances in height.
@ Assembly Time
® Accurancy

31312 F P6X

32220 F P6X
32222 F P6X

Bearing
Clutch

High performance for
the highest efficiency

Advantages:

« Self-aligning types of ball bearings
* Reduced vibration

* Long lasting products

F 15140

F 15141
F 18040

FERSAGROUP

Bearings for
Drivetrain

We have gained the trust of the
main axle manufacturers worldwide

Gearbox

Advantages:

« Wide range of tapered roller bearings, ball bearings and
needle bearings for both standard and special series.

« ZF OEM supplier.
* Bespoke solutions to meet your needs.

AGCO, ZF Gearbox 3MD30

+ more items on our website

Differential

Advantages:

* Wide range of tapered and cylindrical roller bearings.
* High performance bearings, with restricted tolerances.
« Pinion bearings specialists

Valtra Differential John Deere Harvester

+ more items on our website



Tapered
Roller Bearings

Most complete bearing range
for trailer wheels

Advantages:
* Features adapted to every market

+ more items on our website

Wheel
end hubs

OEM quality in the field

Advantages:

¢ Quick assembly

* Greased for life

« Axial clearance factory pre-set
* Maintenance free

F 15100

F 15125
F 15434

-« T

Agri units for
disc harrows

Robust solution for all soil types

Advantages:

* High carrying capacity and high performance within
compact dimensions.

* Preloaded for stability.

» High quality grease and multiple sealing layers for
increased longevity.

* Ready to mount and maintenance free.

* Special coating for increased corrosion resistance.

« Adaptable to customer requirements.

ACBO600 SERIES

Bearings for
rotary harrows

For the finest work in rocky and hard soils

Advantages with deep groove ball bearings:
Wide range of products available. Custom made types with
improved seal performance (heavy duty seal, felt rings,
etc.), sophisticated grease for agricultural applications and
additional geometric features available on request.

Ready to mount, no setting required.

6.000 SERIES

Advantage with tapered roller bearings:

* Wide range of metric and inch tapers.

* Bearings withstand combined loads (axial and radial).
« Easy installation, separable bearing.

30.000 SERIES

FERSAGROUP




FERSAGROUP

m. _;-:m-'.
5 Fky 'i-*,n* e
g#_ B
.t y ‘{T t‘d ﬁ‘;!r’iﬁ
X H

¥

adbe ) J “ ]
..-.' -"‘1 " ’*llJ{Ju‘.Lﬂr}':'r

Agri units for seeding

Agri units for mechanical
disc solutions

weed control
Our Maintenance-free

solution for high carrying
capacity

Stop the growth of
grasses and weeds

Advantages:
« High carrying capacity within compact dimensions.
¢ Preloaded and ready to mount.

Advantages:
* High carrying capacity within compact dimensions.
* Preloaded and ready to mount. * Low friction ensures proper disc rotation

* Low friction ensures proper disc rotation * Pregreased and maintenance free.

* Pregreased and maintenance free. * Special coating for increased corrosion resistance.
* Special coating for increased corrosion resistance.

* Adaptable to customer requirements.

ACBO0300 SERIES

* Adaptable to customer requirements.

ACBO0415

10 n



FERSAGROUP

Housing Insert

units bearings
The best performance :
under any circumstance

Safety and durability
guarantee

Advantages:

« Various flange designs.

* 3 lips sealing + protective cap.

» 2 options: Re-greaseable/non re-regreaseable.

* Heavy duty-high tensile strength housing
material on request.

Advantages:

« Lubrication holes and Groove in the outer ring that helps
lubrication in the final application.

« Triple lip seals to protect the bearing and extend its life.
« Restricted tolerances bearings for optimal installation.

ucC204
UC205
uC206
uc207
uC208
uC209

GY 1100 KRRB
GY 1108 KRRB
uc214
UC215
uC207-20 UC2i16
uC208-24 uC207-20
uC208-24
UC211-32 uC201
UCX07-23

5
(7
o
=
-
v}
o
)
=
3
«Q
z
-
=
A
[%2)
A
(74
o
o
(7]

FLCTE25-MON
GLCTE25-MON
GLCTE30-N-MON
PASE30-N-MON
PASEY30-N-MON
PASEY40-N-MON
PME30-N-MON
PME35-N-MON
PME40-N-MON
PME50-N-MON
RASE50-N-MON
RASEY20-N-MON
RASEY25-N-MON
RASEY30-N-MON
RASEY35-N-MON
RASEY40-N-MON
RASEY45-MON
RASEY50-N-MON
RASEY60-N-A-MON
RASEY60-N-MON
RCJTY20-N-MON

RCJTY25-N-MON
RCJTY30-N-MON
RCJTY35-N-MON
RCJTY40-N-MON
RCJTY50-N-MON
RCJY20-N-MON
RCJY25-N-MON
RCJY30-N-MON
RCJY35-N-MON
RCJY40-N-MON
RCJY45-MON
RCJY50-N-MON
RCJY60-N-MON
RMEY35-N-MON
RMEY40-N-MON
RNA4906-MRO
SG118608
SG118710-A
SG118811-A
SG119207-A
SG124106-MON

SG124207-MON
SG124310-MON
SG124405
SG124505
SG124607
SG124707
SG124807
SG124908
SG125010
SG125112
SG125212
SG125306
SG125408
SG125508
SG125610
SG12571
SG125812
SG125912
SG126012

5
]
]
=
-+
W
[(]
)
=
=
Q
5
-+
=
X
n
[()
-
n
1)
=2
o
(1]
(2]
(2]
(]
=2
(=g
=
0
o
(2]
L)
3
Q
a
o
)
-

G206 V22 3L GE 45 KRRB 3L
GE 25 KRRB 3L GE 50 KRRB 3L

GNE 50 KRRB 3L
GNE 60 KRRB 3L
GNE 70 KRRB 3L

GE 30 KRRB 3L GE 55 KRRB 3L
GE 35 KRRB 3L GE 60 KRRB 3L
GE 40 KRRB 3L GNE 30 KRRB 3L

5
(7]
o
-
-
W
)
]
=
3
Q
2
-
=2
b
(74
[0}
o
(7.
V)
3
o
[0}
0
0
[0}
3
-
=
0
o
0
Z,
3
Q
0
o
)
-

GRAE 20 NPPB 3L GRAE 35 NPPB 3L GRAE 50 NPPB 3L
GRAE 25 NPPB 3L GRAE 40 NPPB 3L GRAE 55 NPPB 3L
GRAE 30 NPPB 3L GRAE 45 NPPB 3L GRAE 60 NPPB 3L

Disc Harrow Bearings
W 208 PPB5

W 211 PPB3




FERSAGROUP

I Cylindrical I Spherical
roller bearings roller bearings

STANDARD
STANDARD
= B SPECIAL SPECIAL
- General S
P ° ° . e
- Application = =
Needle roller Universal
. o - bearing joint cardan
Quality and safety are key in the field Bea rl ng
and you should make the most of your STANDARD
machinery. That is why our bearing = SPECIAL STANDARD
solutions fulfill all agricultural needs with expe rtlse | SPECIAL

&
a wide range of products suitable for |

both, the most demanding applications at you r
and also the simpliest ones. m
disposal

I Tapered roller I Ball I Insert

[ ] [ ] [ ]
bearings bearings bearings
METRIC . DEEP GROOVE STANDARD
INCHES SPECIAL SPECIAL
STEERING THRUST
———— ﬁggm}éR CONTACT
U-TYPE

THRUST

14



Cross part numbers FERSAGROUP

OEM OEM OEM OEM

CASE D70629 UJC0052 215724.0 6207 RS/C4 238504.0 6208 2RS
E45214 32011 X 215768.0 6312 2RS 238523.0 6010 RS
890'81:53;?'035 g:gggg; F50537 uJCco138 215776.0 33207 238539.0 6009 2RS
1270 UJC0052 F85470 uJCo140 215781.0 32216 238640.0 32011 X
27993 UJCo138 FH756924 UJCO140 215807.0 33110 238782.3 6311 2RS/C4
9214 UJco148 FH845032 UJCO151 215823.0 31313 238962.0 NJ 206
59537 UJCO139 G13610 368 A/362 A 216039.0 6004 2RS/C3 238963.0 NJ 208
238 6207 C3 G57204 LM 67048/LM 67010 216040.0 3206 2RS/C3 23899911 6005 2RS/C3
34391 Uicone K620085 €LO055 216084.0 6206 2RS/C3 239086.0 608 2RS
34761 UJC0140 L31782 uJcoiss 216089.0 6016 2RS/C3 23912011 NJ 2207
34870 UG048 NEEI uJcoiss 216101.0 6208 2RS/C3 239220.0 6307 2RS/C3
39360 UJICO15T R14744 uJcol4s 216174.0 6006 2RS/C3 239257.0 6212 2RS/C3
2001 6307 R2713 UJC0025 216311.0 6016 2RS/C3 239266.0 6015 RS
20037 T e R3092 UJC0025 216895.0 6208 2RS/C3 239360.] NJ 2308
20455 SERU/EED 5201007 UJC0052 230369.0 33209 239369.0 33209
729 BCOIES ST773A 2790/2720 233117.0 6206 2RS/C4 239434.0 6303 2RS/C3
9600 uJcone TN774 uJCo150 233199.0 33208 239463.0 6203 2RS/C3
So405 UJCO138 T19402 6207 2RS 23357011 6210 2RS 239476.0 33210
podsy UJC0140 127790 uJcoi4s 234821.0 6211 RS 241073.0 32012 X
120842 UJC0010 T36575 uJCco138 234829.0 30209 243109.0 6009
218353 UJCO138 137173 uJCOo138 235869.0 6207 2RS 243134.0 6217
522361 UJCo138 137895 uJcoi4s 235870.0 6205 2RS 2434310 NU 206
S10463 UJC0023 T41672 uJCo147 235872.0 6204 RS 243436.0 NJ 207
S17504 UJC0039 VT2893 6207 C3 235895.0 6000 Z 243439.0 NU 208
3260716 33209 VTA3127 uJCo138 235898.0 6006 243452.0 NJ 211
366773 3231 VTA3227 uJco1ss 235904.0 6011 243453.0 NUP 211
235905.0 6013 243497.0 NJ 2208
if;;?zg Zg :;ggg CLAAS 235906.0 6018 243498.0 NUP 2208
83933520 00055 6018 6018 235909.0 6203 243535.0 NJ 307
97067974 61910 6203 6203 235911.0 6204 Z 243538.0 NJ 308
1335355C1 22006IX 6205 6205 235914.0 6206 243565.0 NJ 2306
133535600 52007IX 6206 6206 235916.0 6207 243670.0 32207
133546501 6208 C3 6217 6217 2359170 6207 Z 243671.0 32208
133579101 LM 48548/LM 48510 6305 6305 235919.0 6209 243672.0 32209
170254R1 HM 803146/HM 803110 30206 30206 255922.0 6210 243676.0 32214
235927.0 6305 243679.0 32217
170254R1(cup) CUP HM 803110 21918 32013 X
235928.0 6306 243685.0 30310
17-20 UJC0045 132648.0 6303 2RS/C3
235930.0 6307 243686.0 30311
17-56 UJC0047 211421.0 33112
235931.0 6308 24370411 32311
1963958C1 6009 211918.0 32013 X 5359350 = s caaais
1963CHA uJco148 212210.0 33012 : :
235942.0 3210 244030.0 6210 RS
235930.0 6307 212215.0 6008 2RS
235986.0 30206 244031.0 6308 2RS/C3
235931.0 6308 212229.0 6007 2RS/C3
235987.0 30207 244185.0 6307 2RS
2415CHA uJCo139 213406.0 6020 2RS
235988.0 30208 244262.0 6205 RS
298194R91(cone) CONE HM 803149 21347011 32220 X
235989.0 30210 244267.0 6207 2RS/C3
33-1003T1 UJC0023 214630.0 6306 2RS/C3
236005.0 6012 244284.0 6304 2RS
406535R91 HM 803146/HM 803110 215038.0 33010
236008.0 32010 X 244285.0 6307 2RS
77160R91 39580/39520 215048.0 6306 2RS/C3
236225.4 6310 2RS/C4 560212.1 Uy 208
A175395 2790/2720 21515.0 NJ 209
236320.0 32206 610446.0 uY 206
A18398 UJCO0145 215130.0 6309 RS/C3
236752.0 6204 2RS 610448.0 uY 206
A25151 uJCo146 2151341 3306 2RS/C3
237708.0 6004 2RS 616066.0 uY207
A29183 6207 C3 215141.0 33020
30408 UICOIZ8 215148.0 33211 237709.0 6203 2RS 636341.0 Uy 205
237713.0 6005 2RS 661236.0 JM 207049/JM 207010
£30425 uicorzs 2151990 35214 23774911 6209 2RS 734785.2 6010 2RS/C3
A30435 UJCO138 215166.0 6010 RS/C3 59796 206 RS :
47248 6003 2RS/C3 2152059 32220 237832.0 6006 2RS DEUTZ
A47527 uJCo188 215381.0 CONE LM 603049 5378350 6208 3RS
A48044 UJCO0053 215382.0 CUP LM 603011 : 1101596 32013 X
A48155 UJC0053 215400.0 6203 2RS/C2 237833.0(D) 6208 2RS/C3 11091M 6300 2RS/C3
A48902 uJcoiss 215425.0 6008 2RS ;;;gi‘z‘-g Zig: —f:: 1136410 30213
B13270 UJCO140 215467.0 6206 2RS/C3 5380690 SE0% 1139457 33108
B13275 UJCO151 215517.0 6205 2RS/C3 : 225200120 30211
B15275 UJCO151 215520.0 NJ 2207 238073.0 32016 X 0068682(cone) CONE HM 803149
BPXA8870 395/394 A 215525.0 6006 2RS/C3 258079 32009 X 116862(cup) CUP HM 803110
D26204 UJC0052 215536.0 6305 2RS 5389350 R
D29266 L 44643/L 44610 215540.0 6204 2RS/C3 289820 NUP 310
D29267 L 44643/L 44610 215571.0 CONE JM 207049 3389850 NU 217
D45162 uJcois2 215572.0 CUP JM 207010 5389250 6306 SRS
DA5166 uJcoo4s 2150952 35212 238373.0 6305 2RS
D45979 UJC0039 215722.0 6014 RS/C3 :

16 17



18

Cross part numbers

OEM FERSAGROUP OEM FERSAGROUP
X638.524.949.000 NEEDLE
FE N DT X638.525.149.000 NEEDLE
70927090 CONE M 802048 X638.527.900.000 NEEDLE
70927091 CUP M 802011 X638.529.000.000 HB? NEEDLE
70929834 HM 803149 X638.529.101.000 B? NEEDLE
70930424 CONE JLM 710949 X638.560.400.000 NEEDLE
70930426 CUP JLM 710910 X638.611.100.000 NEEDLE
71160044 CUP HM 803110 X638.611.200.000 NEEDLE
74254699 CUP LM 501310
74254700 LM 501349/10 Fo RD TRACTO R
07/262 6307 81812385 HM 803146/HM 803110
10/262 6307 81927765 HM 803146/HM 803110
23/366 6309 83930328 3021
3310930M91 M 86649/M 86610
40/103 6206 GREAT PLAINS
D67106 6206 2720 CUP 2720
D67112 30305 25520 CUP 25520
D67123 6307 25877 CONE 25877
G205.301.020.320 CONE HM 89449 33821 CUP 33821
G816.300.020.180 37431 A/37625 33889/ CONE 33889
H199.110.080.030 NEEDLE 822-018C CONE LM 29749
H312.100.222.020 NEEDLE 822-020C CUP LM 67010
X605.505.911.000 6010 822-021C CONE LM 67048
X605.506.202.000 6013 822-117C CONE 33889
X605.506.311.000 6014 JLM506849 CONE JLM 506849
X605505800 6009 LM-29710 CUP LM 29710
X605510312 6203/C3 LM-29749/ CONE LM 29749
X605510402 S204/53 LM-67010/ CUP LM 67010
X605510412 6204/C3
X605510800 6206 LM-67048 CONE LM 67048
X605511111 6208/C3 22?5?392?// Cgll;lPEzZsSsSlelO
X605515312 6303/C3 2790/ CONE 2790
X605515412 6304/C3
X605515811 6306/C3 3780/3720 3780/3720
X605516000 6307 395835%/9520 Tosas/ond0
X606.705.900.000 6010 ZZ/C3 822-013C CUP 25520
X610904341003 30213 822-014C CONE 25590
X619.070.300.005 JW 6049/JW 6010 822-015C CUP 25821
X619.070.400.005 33216
822-016C CONE 25877
X619048500 30205
822-019C CUP LM 29710
X619048600 30206
822-036C/037C) 3780/3720
X619048800 30208 822-038 CONE 2790
X619048801 30208 822-039 CUP 2720
X619048914 30209
X619049300 30213 822-048C CONE LM 501349
822-051/822-047 39585/39520
X61904934100 30213
822-053C CUP LM 501310
X619049600 30216
822-106C 387/382 A
X619049741 30217 822-107C CUP 382 A
X619051500 30305
822-109C CUP JLM 506810
X619051700 30307
822-110C CONE JLM 506849
X619053900 32207 822118 CUP 33821
X619056/41 32308 JLM506810/ CUP JLM 506810
X619056800 32309
LM501310 CUP LM 501310
Xe19056900 32310 LM501349/ CONE LM 501349
X619951600 30306
X623.038.700.000 CONE HM 807044 HORSCH
X623037600 HM 803146/HM 803110
X623037600(cup) CUP HM 803110 00240199 BB00015
X623037700(cone) CONE HM 803149 00310104 BB0O0O15
X6230398000 HM 807049/HM 807010
X623075100 HM 803146/HM 803110 JOHN DEERE
X623138800 LM 501349/LM 501310 16020 30311
X623145400 LM 11749/LM 11710 26903 6206
X623161300 LM 603049/LM 603011 27797 6206
X623165400 LM 48548/LM 48510 30034 6305 C3
X623168200 LM 67048/LM 67010 30053 6206
X623168230 LM 67048/LM 67010 30067 6206
X638.505.600.013 NEEDLE 30080 6307
X638.519.101.000 NEEDLE 30084 6207 C3

OEM
31764 30208
31765 30206
31964 6307
33487 32206
36989 32205
36998 30304
3701 30206
37013 30306
37014 32206
37015 32306
37032 30307
37033 32307
37049 30208
37069 32309
37071 30209
37074 30309
37078 32010 X
37082 32210
37086 30310
37089 3221
37091 3231
37092 3031
37132 30216
37143 30217
37144 32217
37156 30220
37166 32220
37193 32013 X
37196 32213

150109 30206
150110 32205
9346180 GRAE40-NPPB
32075201 UJCOo182
13P1001 GE25-KRRB
13P1002 GE25-KTTB
13P1003 GE30-KRRB
13P1004 GE30-KTTB
25033A 32210
A45220(cup) CUP 45220
AA21480 BB0OO0O0O15
AA38601 BAC305523
AC15878 uJCcoi43
ADI0091E UJC0030
AETO0091E UJCo150
AEN027E uJcoiie
AE1N033W uJcoi40
AE14978E UJCO0138
AE21122 UJCo148
AE22753 uJCo140
AE23516 UJCo148
AE23716 UJCO151
AE26238 UJCO0138
AE26884 uJCco140
AE30034 UJC0144
AE46875 30207
AE48913 G1108-KRRB
AEG79E UJCo138
AE793E UJCO0138
AH132823 GRAE35-NPPB
AH139297 GE40-KRRB
AH201531 6210 Z/C3
AH79074 UJCO0138
AH81534 uJCoo047
AHS8153A UJC0023
AH83541 UJCo138
AJ12823E uJcoi1ie
AJ3294H UJCo150
AJ5729H UJC0029
AJ7329H UJCo150

FERSAGROUP

OEM
AJ7330H uJcoi3s
AJ7330HN uJCo116
AJ9907N UJCOo150
ALN6737 3221
AL118438 32206 A
ALTI8494 32012 X
AL119944 32013 X
AL150316 62208 2RS
AL1564N uJCcoi3s
AL55941 uJCo025
AL55943 UJCo127
AL71143 32018 X
AL71148 32007 X
AL71148JD10081+JD10099 32007 X
ALY36251A 32008 X
ALY36254 30203
AMI7E UJCO0120
AM140533 WB40740040BB
AM2568E uJCco148
AM2854E uJco1tie
AM2871E UJCO151
AM793E uJCcoi3s
AN12629 6207 2RS
AN12629N 6207 2RS
AN130386N 6205 RS
AN15327N UJCo120
A-N1585 CLOO55
AN32800 UJC0052
AN33120N 6307 RS
AP21678 UJCO150
AP24580H UJC0140
AQX33323 UJCO150
AQX42845 LM 67048/LM 67010
AQX52292 LM 501349/LM 501310
AQX64575 L 44649/L 44610
AQX65055 LM 603049/LM 603011
AR21101R uJCco13s
AR88019 BB00083
ATN451 uJCoo045
AT124519 33113
AT258776 HM 903249/HM 903210
AT258777 HM 903249/HM 903210
AT27353 uJcoiss
AT27787 uJCo045
AT29361 UJCo113
AT29362 uJco1iz
AT309590 6016 2RS/C3
AT49181 UJC0086
AT54901 UuJCo060
AU13093U uJCcoi148
AU42404ED UuJCoo045
AWI13174 uJCco138
AZ10020 BB00092
AZ100206 GRAES55-NPPB
AZ12119 6206 RS
AZ19427 GRAE35NPPBFA140
AZ20217 6205 RS
AZ3304 UJC0030
AZ37148 6207 2RS
AZ37456 WB34640037BB
AZ3757 6206 C3
AZ46129 6013 2RS/C3
AZ47612 GE40-DO
AZ51405 GE45-KPP-3AHO1
AZ54842 GRAES55-NPPB
CH11145 30205
CH12549 6202 2RS/C3
CH12550 6201 2RS/C3
CH12551 608 2RS/C3




FERSAGROUP

Cross part numbers

FERSAGROUP OEM FERSAGROUP OEM FERSAGROUP

OEM OEM

20

CHI2553 6003 2RS/C3 JD37047 32208 JDsiss CONE LM 11949 RE57653 WB30580042RB
CHI8554 6013 2RS/C3 JD37084 32310 JD8188/226 LM11949/ LM11910 XAC5351E UJC0120
CQ29199 GE30-DO JD37087 30210 JD8190(cone) CONE 15101 XAG2230E uJcotie
DC23368 WB35720033BB JD37093 30211 JD8191(cone) CONE 497 XAG63796H uJcoi3s
DC24986 32013 X JD37116 32215 JD8194 LM 48548/LM 48510 XAZ37148 6207 2RS
DE18299 33209 JD37129 30215 JD8194/230 LM 48548/LM 48510 XJD21219 39580/39520
DE19475 WB25520037RB JD37194 30213 JD8202 2872/2820 XJD26039 LM 11949/LM 11910
DE24985 LM 300849/LM 300811 JD37219 32011 X JD8206 395/394 A XJD49008 LM 67048/LM 67010
DQ02579 BB00092 JD39104 GE35-KRRB JD8208(cup) CUP 28920 YZ10232378 33209
DQO0651 GE40-KRRB JD39107 GE40-KRRB JD8210 28985/28920 YZ102380 33211
DQ02573 GRAE25-NPPB JD7120 5208 2RS/C3 JD8213 27687/27620 253552 32007
DQ02579 GE35-KRRB JD7128T 6207 C3 JD8220 18590/18520
DQ02624 GRAE30-NPPB JD7147 6207 2RS JD8225 CUP 67010 M#SSEY FERGU§ON
DQO5143 GRAE20-NPPB JD7147N 6207 2RS JD8226 CUP 11910 " (?799 39:4/‘;‘;2 5
DQO6078 15126/15250 X JD7207(cone) CONE 14137 A JD8230 LM 48548/LM 48510 o s L
DQO9I5! GE35-KTTB JD7222 2788/2720 JD8236(cup) CUP HM 803110 e o208
DQ18800 34300/34478 B JD7266(cup) CUP 2720 JD8237/902 LM 501349/LM 501310 = e
DQ74694 5309 2RS/C3 JD7292 3984/3920 JD8239/905 M 12649/M 12610 3598 eaae
ER027659 6013 2RS/C3 JD7298(cup) CUP 572 JD8245 37431 A/37625 30 EereE
FOO3810 32020 X JD7335 537/532 JD8251 CUP M 88010
FO25161 32017 X JD7335R 537/532 JD8290(cup) CUP 492 A 35322’6 62°7ZRRS
F047371 33022 JD7343 3982/20 JD8510 6009 ggiyg T 67%3;’8%”1701 5
FO57658 33021 JD7372(cone) CONE 14138 A JD8s18 6307 sl e A
JD30049 6004 2RS/C3 JD7375(cone) CONE 15100 JD8S5I8E 6307 Joorass o2
JDI00T 6210 Z/C3 JD7377 395/394 A JD8520 6309 2RS/C3 2529400 204 RS
JD10018 6310 Z/C3 JD7378 3984/3920 JD8531 5206 2RS/C3 T ere
JD10023 HM 218248/HM 218210 JD7395(cone) CONE 25580 JD8666 6207 RS 2520408 208 RS
JD10035 6009 2RS JD7409(cup) CUP 14276 JD8901(cone) CONE HM 803149 a0y IHhOZoR e LAoZ3i0
JD10037 30203 JD7414 368 A/362 A JD8916(cone) CONE 02474 o670 s
JD10039(cup) CUP LM 503310 JD7415(cup) CUP 02420 JD8929 CONE M 88048
JD10040(cone) CONE LM 503349 JD7427(cup) CUP 28521 JD8932(cone) CONE 39580 ggj?;gggg 3%33%75
JD10052 62309 2RS/C3 JD7432(cup) CUP 15520 JD8933 L 44643/L 44610 e st
JDI006] 33205 JD7439 469/453 X JD8941(cone) CONE HM 807049 Sete S
JD10062 33109 JD7445 25580/25521 JD8963 27687/27620 LoIORS e
JD10063 32013 X JD7446 25877/25821 JD8972/JD7441 13687/13621 T S0
JD10122 HM 212049/HM 212011 JD7446(cup) CUP 39520 JD8983 382 A [azzloom EH o
JD10133(cone) CONE 56425 JD7449(cup) CUP 15245 JD8984 368 A/362 A T 2009
JD10136(cup) CUP 56650 JD7681 6206 JD8985 28584/28521 e Eere
JD10155 6307 RS JD7681A 6206 C3 JD9013(cone) CONE 2789 S s
JD10184 33116 JD7681H 6206 JD9021 HM 212049/HM 212011 e e
Jploig7 33116 JD7688 6208 C3 JD9070 LM 104949/JLM 104910 D -
JD10200(cone) CONE HM 803146 JD7688N 6208 C3 JD9078 HM 807046/HM 807010 et £k
JD10223 72212 C/72487 JD7851 3780/3720 JD9090 2872/2820 e S,
JD10227 72212 C/72487 JD7851H 3780/3720 JD9137 32014 X oo 2508
JD10234 32206 JD7884 580/572 JD9208H 6206 2RS/C3 s S
JD10266 575/572 JD7884R 580/572 JD9243 5204 2RS/C3 B STETER o
JD10343 GE55-KRRB JD7886 3984/3920 1D9245 6209 2RS
JD10353(cone) CONE 55200 C JD7886H 3984/3920 JD9268 6309 2RS 12282242&1 7;2222‘1’13
JD10354(cup) CUP 55437 JD7889 567/536 JD9292 6011 2RS/C3
JD10384 GE30-KRRB JD7989 3984/3920 1D9293 6205 RS 1440646X1 32217
JD10427 33108 JD8031 1380/1328 JD9344T 6207 C3 ljjggjgil ?;i?:
JD10445 GE35-KPP3N JD8045 39590/39520 JD9345T 6208 C3
JD10458 G207-KPP-3AH16 JD8045R 39590/39520 JD9346 6210 1&‘4‘1065?;11 :zf"x
JD10473 3208 2RS/C3 JD8070 42687/42620 1D9347 5209 2RS/C3 - 4886259(1 3 sg 059
JD10937 30203 JD8I00 25877/25821 JD9387T 6207 C3 v CooERY/GE
JD29980 6203 2RS JD8I0S 28580/28521 JD939IT 6007 C3
JD30036 6205 JD81I0(cone) CONE 15578 JD9402E 6206 2RS/C3 111111405;1] > 372":4
JD30055 6306 C3 JD8126(cone) CONE 45280 JD9439 6310 2RS/C3 5 4285(’) s 6 °3 . 2156/ C3
JD30071 6204 2RS/C3 JD8I31 469/453 X JD9467 6305 2RS e e
JD30084 6207 C3 JD8I134(cone) CONE 15123 JD9490 GE25-KRRB ey 0
JD30117 6208 C3 JD8138(cone) CONE 45284 L1827C uJcone e S
JD30148 6309 JD8148(cone) CONE 15126 L64838 6207 e ool
JD30198 6205 2RS JD8150(cone) CONE 15120 LY20215A 6307 jat2zee Eoe
JD30213 6206 RS JD8I54(cone) CONE 28985 M154860 WB40740040BB sz 32020 X
JD30227 6012 2RS/C3 JD8I59 29685/29620 MD2683L UJC0052 s E
JD30284 6204 RS JD8l62 399 A/394 A NDI915D uJco138 e e
JD30324 6003 2z JD8167 496/493 RE222978 6308 2RS
JD33004 6009 2RS JD8179 18590/18520 RE65610 6207 2RS 1442550X1 32305
JD36990 30305 JD8I82 3877 RE15546 UJC0045 1442583X1 S2021p¢
JD37011 30206 JD8186(cone) CONE 2790 RE44123 37431 A/37625 1442954X1 32221
JD37026 30207 JD8is7 CONE LM 67048 RE4930 6016 2RS/C3 16234X 14137 A/14276
JD37034 32308 JD8187/225 LM 67048/LM 67010 RE567062 WB42760039RB 1716989M1 32006 X

21



22

Cross part numbers

OEM OEM
1716990M1 30203 390384X1 6306 2RS
1806576M1 30218 390859X]1 30211
1806577M1 56425/56650 390876X1 32307
1806593M1 32209 390941X1 6006 2RS/C3
1806594M1 30309 391069X1 6309 2RS/C3
1820418M1 32306 391107X1 6204 RS
1829418X1 32306 391336X1 30215

1850090M92 HM 903249/HM 903210 391337X1 30213
1850222M91 14137 A/14276 391338X1 30307
1850224M91 15123/15245 391339X1 32013 X
1851533M1 3984/3920 392110X1 32017 X
1851533M91 3984/3920 408625M1 GE
1868225M1 CLOOS5 410.583M1 BB00092
1884D 2788/2720 410583M1 GE
1887490M91 387 A/382 j};gggm g:
1%%?;;:411 600:22&5 e 647777M1 LM 11949/LM 11910
195508M1 CLOOS5 649180M91 18590/18520
195885M1 6205 RS 658007M1 6204 RS/C3
2521A413 6206 659835M1 6206
2521D409 6207 RS 70929834(cone) CONE HM 803149
2714101M1 30217 763402M1 15123/15245
3000062X1 5204 2RS/C3 790836M1 6212 2RS/C3
3000216X1 32012 X 794475R91 6205 RS
3000602X1+3000603X]1 30306 831055M1+831054M]1 LM 11949/LM 11910
3000946X]1 32007 X 831078M1+831077M1 LM 48548/LM 48510
3001019X1 32206 831337M1 14137 A/14276
3001076X91 33116 831766M1(cup) CUP HM 803110
3001078X91 33116 832686M1 6204 RS
3001675X]1 6205 RS/C3 832772M1 6207 RS/C4
3002245X1 32024 X 832772M3 6207 RS
3002641X1 33215 8328111M 6212 2RS/C3
3003273X1 6304 C3 833084M1 CLOO055
3007423X1 6305 C3 833360M1 6209 2RS/C3
3007445X1 32014 X 833363M1 6306 2RS
3008434X1 32011 X 834313M1 6207 RS
3009853X1 32010 X 834384MI 6009
3068536M8 30216 842296M1 6306 2RS
330385XI1 6009 844240M1 GE
330393X1 30206 892862M1 CLOO55
3383324F1 32014 X 899918M1 6207 RS
3383716Mi1(cone) CONE 497 973302M1 32308
338567X]1 32018 X 973314M1 32213
338568X1 32016 X 973937M1 6309
339393X1 30206 974747M1 30309
339394X1 30208 974899M1 30206
339436X1 6307 974952M1 30215
339440X1 30209 AC1076 6309
339482X1 32205 AC1163 6307
339579X1 6207 RS AT1040 6206 C3
3405248M1(cup) CUP 492 A CX10099 3984/3920
350351X1 15123/15245 CX10105 3780/3920
352976X1 6208 2RS/C3 CX104108 30208
353010X1 6205 RS CX104134 6309
353011X1 6207 RS ET31127 LM 67048/LM 67010
353066X1 6207 RS FA8390 32205
353067X1 6205 RS GA1773 6206
3531011 6205 RS G773 6206
353102X1 6206 RS LA1018 6206
353103X1 6207 RS RO1121 6307
353105X1 6307 RS ROTI21A 6307
353140X1 6207 2RS/C3 $9840 15123/15245
35324X1 6306 2RS/C3 59852 6206
353246X1 6306 2RS TO4224 3984/3920
354068X1 WH30107RB NEW HOLLAND
354068X1 WK00688 025953 82071205
354072X1 WH30107RB 27291 520aIRE
354072X1 WK00688 029659 5206
354920X]1 6307 2RS/C3 34439 6205PRS
354921X1 6308 2RS/C3 42449 6307
390376X1 32307 45160 6307

OEM
66801 6208 C3
100720 32011 X
103237 6207 2RS
121506 LM 29749/LM 29710
136903 LM 67048/LM 67010
161713 30204
166817 3782/3720
167082 6206 RS
176451 55200 C/55437
199954 JLM 104948
199955 JLM 104910
210034 2207 2RS
210043 6206 2RS
210044 6207 2RS
210048 6307
210053 30208
210054 6000 2RS
210064 6206
210067 30309
210075 6205 RS
210086 6309 2RS
212606 BB00092
212609 GE40-KRRB
215791 32017 X
247490 L 68149/L 68110
30149 3209
301178 6309
301196 32208
301197 32215
301241 580/572
320557 6307 2RS
321207 LM 48548/LM 48510
322360 GRAE35-NPPB
323327 22208
325099 GRAE20-NPPB
325103 GRAE25-NPPB
325106 GRAE30-NPPB
325110 GE30-KRRB
350420 6307 RS
354779 NJ 305
357239 JLM 104948/JLM 104910
364908 6007 2RS
382720 JM 205149/JM 205110
385424 GE45-KRRB
388069 6310 2RS
443898 6205 2RS
468880 GE25-KRRB
754565 580/572
756965 GE35-KRRB
757325 GRA 100 NPPB
758563 GE35 DO
82461 NJ 206
853116 32011 X
5111970 32309
5119781 30307
5172328 33108
9825886 6011
9839403 32315
24903450 32012 X
24903460 32013 X
24903830 32010 X
24905140 84819080
24905150 6011 2RS
24905160 6012 2RS
24905170 6013 2RS
24905270 6005 2RS
24905360 6014 2RS
24905540 6214 2RS
26799990 3021
26800180 32215
26800270 32221

FERSAGROUP

OEM
26800280 32222
41668400 32011 X
44908419 32005 X
73326342 33020
76040549 33216
76040788 33020
76086014 32011 X
80025953 6207 2RS
80034439 6205 2RS
80058260 6005 2RS
80159863 6305 2RS
80210039 6016 C3
80210043 6206 2RS
80210064 6206
80210075 6205 2RS
80210086 6309 2RS
80300313 6004 2RS
80306739 6209 2RS
80320557 6307 2RS
80362804 6203 2RS
80364908 6007 2RS
80377714 6204 2RS
80388069 6310 2RS
80396079 6209 2RS
80412274 6311 2RS
80412287 32205
80443898 6205 2RS
80750347 32013
80853116 32011 X
81812303 02474/02420
83952562 32007 X
84068653 33113
84068654 32017 X
84074701 33109
84320593 3021
84434854 6209 2RS
84438713 32009
84453848 JD 10456
84980391 62206 2RS
84998592 0385F
84998593 0380 F
84998747 GES50-KRRB
85812305 32011 X

86018151 32012 X
86018152 30209
86500889 33210
86500890 33211
86557433 32208
86613758 30308
86623592 32211
86623593 33213
86626475 32008
87281696 32010 X
87282046 30207
87307342 33020
87312350 30210
87431397 33212
87445398 30208
87555831 32011 X
8756471 6213 2RS
88273610 02474/02420
89832269 33209
89833081 6017 C3
89833824 32009 X
340406546 33110
190003320025 32204
NH87346925 LM 207049/LM 207010
87555831853116 32011 X
NH84072818 37425/37420
NP951065 HM 88542/HM 88510

23



24

Cross part numbers

OEM
LAS5313 31308

LAS5315 31310

LAS5318 31312

LA5938 32019 X
LA5950 32016 X
LAS5951 33207
LA5955 33018
LA5990 32012 X
LA9386 NUP 309 FM

WAA4220A LM 501349/LM 501310

FERSAGROUP

OEM OEM
80638700 HM 88649/HM 88610
VALMET 80841500 NUP 206 FM
610060094 6009 2RS/C3 80900300 HM 801346/HM 801310
LANI84 6208 2RS/C3 80900500 HM 807049/HM 807010
LA1986 6014 2RS/C3 8090100 387 A/382 A
80907600 JP 12049 A/10
VALTRA 81214600 NU 310 FM
21016 OB 81321600 NU 309 FM
21886 HM 89449/HM 89410 81322700 QY:309'EM
Y1946 6215 NR/C3 82774500 HM 89446/HM 894410
51989 NURGOSIER 83325400 33287/33462
33204 NDEEOSIE 1AS5022 F 15059
36397 M 86649/M 86610 1KS5013 14138 A/14274
40923 33205 1KS5014 28580/28521
20927 32007IX 291060/1524625 HM 218248/HM 218210
61223 31307 710019A5 65237/65500 B
164481 EET 710034AS 387 5/383 A
195175 =0 710036AS 389 A/;Bs A
7AS5012 495 A/493
195494 6010 z 7AS5014 2789/2729
195498 6009 NR 7AS5014A 3877/3820
195507 6211 ZNR CIVVI2I5A M 12649/M 12610
210051 6312 2RS C5NN7127B 6212
265150 42381/42584 C5NN7NO46A 6013 2RS/C3
440850 419/414 Cs5018 580/572
440860 JHM 807045/JHM 807012 DONN7NO44A 21075/21212
440870 JLM 813049/JLM 813010 JD10053 F 10053
488952 6203 2RS/C3 JD10337+JD10336 11163/11300 B
593200 29685/29620 L29002/L29001 L 29002/L 29001
645695 2580/2523 L29002/L33492 L 29002/L 33492
655662 469/453 X LA1014 6009
814730 HM 903249/HM 903210 LA1016 601
814750 HM 218248/HM 218210 LA1022 6015
814760 580/572 X LATI071 6205 Z
834218 6011 LAT1074 6205 ZZ
882554 3780/3720 LATII 6207 2Z
888860 HM 905843/HM 905810 LAI3 6208 ZZ
895322 LM 11949/LM 11910 LAINS 6210
899377 RMS 9 2RS/C4 LATI20 6213
1440596 NJ 210 FM/C3 LATI2] 6214
1850909 37425/37625 LA1205 6304
1851392 395 A/394 A LA1209 6306
1851533 3984/3920 LAT21 6307
1851800 LM 48548/LM 48510 LA1213 6308
1881931 27687/27620 LAI214 6309
2710095 11 BC LA1291 6304 zZ
2710096 13¢C LA1293 6210
2710097 14 XS LA1982 62208 2RS
2710396 35BC LA2015 7210 B
3001717 32008 X LA2226 42368/42584
3003372 NUP 211 FM/C3 LA313 NU 208 FMN/C3
3009851 33209 F LA3313 NU 308 FM
3009853 32010 X LA3409 NJ 306 FM
3176192 LM 603049/LM 603011 LA35T N 307 FM
3176708 386 A/382 A LA3955 NUP 308 FM/C3
3176712 M 84548/M 84510 LA3956 NU 2215 FM
3410432 6210 ZZ NR LA3974 NU 2216 FM
3585341 F 18031 LA3975 NJ 308 FM
3587730 F 19030 LA3976 NJ 309 FM
9832270 32216 LA5007 30205
24903780 32006 X LA5009 30206
30208110 F 15140 LA5O11 30207
34057600 32011 X LA5013 30208
47127081 6015 2RS LA5014 30209
80173000 JL 819349/JL 819310 LA5016 30211
80173600 32205 LA5022 30215
80322800 M 88048/M 88010 LA5103 30208
80322900 M 802048/M 80201 LA5109 32206
80450644 6310 2RS LASIN 32207
80561200 37431 A/37625 LAS113 32208
80568600 30210 LA5TI5 32210
80638600 HM 803149/HM 803110 LA5218 30312

25



Notes FERSAGROUP

26 27



Fersa

Bearings

www.fersa.com

NKE

B E AR N G S

www.nke.at

S

www.asautosolutions.com

Automotive
Solutions

Contact
Us

EUROPE

SPAIN

Zaragoza

Fersa Bearings HQ
fersa@fersa.com

Fersa Iberia
fersaiberia@fersa.com

AUSTRIA

Steyr

NKE Bearings HQ
office@nke.at

RUSSIA

Tyumen

Moscow

Official Distribution Center
fersa@fersa.su

FERSAGROUP

NORTH AMERICA

USA
Toledo, OHIO
fersa.usa@fersa.com

SOUTH AMERICA

BRAZIL

Pinhais, Curitiba

S&o Paulo
fersa.brasil@fersa.com

ASIA

CHINA

Jiaxing
fersa.cn@fersa.com

Shenyang
info.cn@nke.at

CAT AGRI V1 0120




